N = 0l & At & Ml A

SAH FERALD
M =S JGE DENH PE(+SLUS/HSLS - 23 SIIE)

CHel: BYFEXNE A (el d e
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
EXAIA D 46,400 152,080 A 105,680
=M S Y WEHMH 2E(+3LDS/UHENE - 2857 9,000 100,000 91,000

SOIEH)
DAFIE AH 9,000 100,000 91,000
I LAFINHZY 9,000 0 9,000
401 AEHI LY 9,000 0 9,000
01 Al&t] 9,000 0 9,000
= 0il A 9,000 0 9,000
OZ&X A 22 FXHE =4 2 22
600,000 * 1581 9,000
HHSHAH (WSAED)(IIEHIIEH 37,400 52,080 14,680
Jl2Zl 37,400 52,080 A 14,680
ol =22 37,400 52,080 A 14,680
201 gty 16,200 20,520 24,320
01 At22teldl 16,200 20,520 A4,320
2 0fl A 18,360 20,520 22,160
ORAN2YII23H 18,360
— e 2H| 40,0009 * 172 « 128 8,160
— 32l 50,0008 « 172 « 12 10,200
EAH=S0IR ( 16,200) | ( 18,360) | ( A2,160)
202 OdHI 17,600 27,360 29,760
01 =LHOiHI 17,600 27,360 A9,760
2 0fl A 24,480 27,360 A2,880
OYREXII 20 120,000% * 172 « 128 24,480
=213 ( 20,480) | ( 24,480) | ( A4,000)
OYREXII20H 20,480,0008! |( 20,480) | ( 24,480) | ( A4,000)
SH=S0IR ( 17,600) | ( 20,480) | ( A2,880)
203 YREXY 3,600 4,200 A 600
04 PANRAYLETY 3,600 4,200 AB00
2 0il A 4,200 4,200 0
ORAN2YL2EXY| 350,0008! « 12 4,200
EAH=S0IR ( 3,600) | ( 4,200) | ( A600)




